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—f%=ETH General

{50 Pl FEE A

Operating temperature

-10°C ~+70 C

ESRLT

Manual soldering

300 °C max 3 sec

TR Electrical Characteristics

HIHE R)

Total resistance

5KQ~1MQ

HHERTSE

Total resistance tolerance

+20 % ( More than 1 MQ + 30 %)

PEfE &R

Resistance taper LJalIBLIC

= =

%E'.@.J HES . Less than 80 mV

Sliding noise

%oy

2 = FEE . Less than 20 Q

Residual resistance

TEASE T

Rated power (W) 0.05W
E= VP *R
E: Rated voltage 38 &R (V)

T P: Powe.r rating %Efé.?éjj (Vi/)m .

Rated voltage (V) R: Nominal total resistance 2% 4= FHITHE (Q)
B AR R A e S P R R (R, o 1 R R A B E R
When the rated voltage exceeds the maximum operating voltage,the maximum operating voltage
shall be the rated voltage.

R A EE AC50VDC20V

Max operating voltage

ZE % e

B More than 100 MQ at DC 500 V

Insulation resistance

TR .

Withstand voltage I minute at AC 500V

T 14 Mechanical Characteristics

Total rotational angle

I

ERCHIE 15~ 150 gf.cm

Rotational torque

C.CHHH

C.C torque []150~150 gf.cm

Sl - 5R Without bushing: 5 Kgf.cm max

Rotational stopper strength With bushing: 6 Kgf.cm max

B HEA SR

Shaft push-pull strength 8 Kgf max

L= Ey

Rotational life

15,000 cycles
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F=| 7] 712|12|12 12 10~100 | +0.5

1 2 3 1 2 3 4 choose > 100 +0.8
®  SONG HUEI ELECTRIC CO., LTD. _ A BLEE FMR s 1.2
FOSHAN SONG HUEI ELECTRIC CO., LTD. | MODEL: RK1114N(F) A | BUAL=35,F=12 | T 20180816
Approval Checked A JB13.THRI3 A% 2018.02.26

ecke \

/REN S A #ipheg? | AR

DATE |2008.06.17 [ISSUE| SUBJECT NAME | DATE

il N1V,

RECORD




Shaft Types §jIIE]:

Horizontal Vertical KC Type
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